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1.4 ldentity & Equality Properties
4+x=4 X+9=9
14 =14 + x

What does x need to be
for all the above equations?

Additive Identity Property
a+0=a

Ix=7 36 = 36X

What does x need to be
for all the above equations?

Multiplicative Identity Property

a.l=a
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3(0) = 0 0 = 24+0
5¢6¢02 =0

What do you notice about
the above equations?

Multiplicative Property of Zero
a-0=0

Properties of Equality

Reflexive Property
a=a

Symmetric Property

If a=Db, thenb = a.
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Properties of Equality

Transitive Property

If a=bandb=c, thena =c.

Substitution Property

If a = b, then a may
be replaced by b.

Name the property illustrated by each statement.

1.

2.

3.

7+6=7+6

reflexive \oropex'l';y
8¢1=8

mult. identity |proyper
3+(2+1)=3+3 P \0 Jc?,
Substitution properts
14+os='14 > propersy
add. identiby propo/chY
If 6 =3+ 3, then3 +3=6.
smmebnc ropert

25 \/O 0 P P 7/

M lt. ;ro e/rfy of zevp
If8 6+2and6+2=5+3,
then 8 = 5 + 3.

transitive pmperlcy
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Evaluate each expression, showing your
work for each step. Indicate the property
used in each step.

8. 3+18(12+6-2) 9. (13+£.5)(3"°-2))
2+(86( 2—2) wtE  (13+ 2-95)( —-e);\,\,%t&.
2+ (9 (o) swbst. prop. C13+55)(1 ) svbsh. pop.
2+ O mukppofzeo  (3+ 2 )] ) subst pop.

2 add. 'ldcnﬁfy prop (15 2C1)  Subst. prop-
15) MVH-MG':’ID{}‘Z.

Evaluate each expression, showing your
work for each step. Indicate the property
used in each step.

10. 7+5(8+2-4%)-3
7 +508°2-16)-2 Swbst. prop.
Z+5(l6 —lb )-_3 Svbsi. prop.

Z2+5(0)—3 Svbsy. prop-
73 +0 —3 Mul. prop. OF Zero
-5 add. ')dent'ib)l Z0r

b Swbst- m\o.
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